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Since i will double itself in each while loop that is

5 1 2 4,8 2k when thereare k steps
Then once 2k on thewhileloopwill stop it implies

that k slogan is the worse case wewillhave

Thus total operations ofsteps time of operations
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In the worse casescenario we need n t comparisons

Sol a For a loglogn algorithm if inputsizeincreasesfrom n to an

we have loglogan log log2 logn

loglogs loglogn

and itmeans it keeps the same order because it
thcreases

a constant when we double the inputsize



b For a logn algorithm if input size increasefrom n to an

we have log2n log2 logn
and itmeans it keeps the same order because it onlyincreases

a constant when we double the inputsize

c For a loon algorithm if input size increasefrom n to 2n

We have 100Gn 200h 2 oon

and it means that weneed to double the time if we
double the input size

d For a n logn algorithm if input size increasefrom n to 2

we have
2n log2n 2n logs logn anlogz anlogn

and it means that weneed morethan twice oftimewe used

for inputsize n but it still keeps the same order

e For a m algorithm if input size increasefrom n to 2n

we have
2n 4m 4 m

and it means that weneed to quadruple thetimewe used

for input size n

f For a m algorithm if input size increasefrom n to an

We have 2n 8 m 8 m

and it means that weneed to octuple the timeweused
for input size n

g For a 2n algorithm if input
size increasefrom n to an

wehave zn 225 4h and In 2



and it means that weneed an times of the timeweneed
for inputsize n

pleasecheck our classwork 33 34,35

please check Quiz 8 Question 2 for answer


